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Given below table shows the number of cakes of five different types sold by a
shopkeeper on four different days. Study the data and answer the questions that follow
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Days/ Type of | Vanilla
cake

Wednesday 25

Thursday 24

Friday 28

Saturday 22

Chocolate Red Velvet Black Forest Blueberry
Glaze
40 16

18 20
36 20 25 28
30 26 28 32
32 30 24 42




1 . What is the difference between the average of chocolate cake sold by the shopkeeper and
the average of black forest cake including all days ?
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(A) 11.75 (B) 10.75 (0)9.75 (D) 10 (E)None of these

Days/ Type | Vanilla Chocolate Red Velvet Black Forest | Blueberry
of cake Glaze

Wednesday 25

Thursday 24 36 20 25
Friday 28 30 26 28

Saturday 22 32 30 24



2 . The number of blueberry glaze and black forest cakes sold together on Wednesday, is
what percentage of vanilla and chocolate cake sold together on Saturda % ? (approx)
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(A)57% (B)67% (O)T77% (D)70% (E)None of these

Days/ Type | Vani!'z Chocolate Red Velvet ! Black Forest | Blueberry

of cake : Glaze
Wednesday 25 40 16 18 20
Thursday 24 36 20 25 28

Frida%&\ 30 26 28 32
Satufday 2 32 30 24 42




3 . What is the ratio of the number of red velvet cakes sold by the shopkeeper on Thursday
and Friday to the vanilla cake sold by him on those days ?
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(A)13:16 (B)11:18 (O) 23:26 (D)22:26 (E)None of these
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Days/ Type | Vanilla Chocolate Red Velvet lack Forest | Blueberry
of cake
40 16

B
Wednesday 25 18
Thursday 24 36 20 25

Friday 28 30 26 28

Saturday 22 32 30 24



4 . All the cakes sold on Thursday, is what % less / more than all the cakes sold on Saturday ?
(approx)
TEAR ST 9 T AT Sheh, AR <t ) 10w+t hes & fera i m/stferes 22

(W)
(A)11%less (B) 16%less (C)11%more (D)16%more  (E)None

Days/ Type | Vanilla Chocolate Red Velvet | Black Forest
of cake

Wednesday 25

Thursday . O ‘ O O

Friday
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5 . A shopkeeper earns 10000 rupees by selling vanilla cake on Wednesday. If the ratio of the
price of all the cakesis 8 : 9:10: 11 : 12 respectively, and the value of the cake remains on all

days, then by sellin a-% all types of cakes on Friday How much money will we collect ?
Teh TR JUAR T T heh srereit 10000 0 sHuTar 81 9fe Al heh o Hodt &1 SJUTa

9T 8:9:10:11: 12 7, 3T %k T God a«t i a7 @ar 2, a‘rwﬁnﬁw%wm
T TeRaAT UHT TR R ?

(A)72800  (B)73200 (C)76800  (D)62800  (E)None of these

Days/ Type | Vanilla Chocolate Red Velvet | Black Forest | Blueberry
of cake Glaze

Wednesday 25

Thursday 24 36 20 25
Friday 28 30 26 28
Saturday 22 32 30 24




Directions (Q. 31-35):- Direction for Question
Study the following pie-chal‘t and table carefully to answer the questions given below:
The err:entage of employees working in different departments.
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Total no of em plwees 1800

P i 11:1

cton
@ HR 1:3
@ IT 5:4
Marketing 7:5
Accounts 2:7




Q.31 :- The number of women working in the IT department of the organization is
approximately what percent of the total number of employees in the organization from all

departments together? _ )
e Sy 8 o g8 el g i P

A7 (B)S5 (C)I9 (D15 (E)I0

Total no of employees = 1800

Department | M:W _

B Production Production 111
“HR HR 1:3
mIT
IT 5:4
Marketing
Marketing 7:5
M Accounts

Accounts 2:7




Q.32 :- What is the respective ratio of number of women working in HR department of the

T g S e
Hd HHTTNA] Pt TG | HH: T SUTd
(A)3:4 (B)2:S5 (C)2:9 (D)3:7  (E)None of these

Total no of employees = 1800

Department | _ M:W _

M Production Production 11:1
_— HR 1:3
T
IT 5:4
Marketing
Marketing 7:5
M Accounts

Accounts 2:7




Q.33 :- What is the respective ratio of number of men working in the accounts departments

to EEE t%gl nul%b%rla[ aﬂg{u N gﬁ%ﬂ%lﬁn that dE]Zl % o ped ara Fa

T | HHRT: FT U 62
(A)9:2 (B)7:6 (C)2:9 (D)6:7  (E)None of these

Total no of employees = 1800

Department | __ M:W _

M Production Production 11:1
i HR 1:3
miT
IT 5:4
Marketing
Marketing 7:5
W Accounts

Accounts 2:7




:- The number of men working in the production department of the organization is

what pE{aﬂt of th%utal n_H_mbE of employees w l%?g in that rhﬂ&l_h_t"'ag_zl’-"_? ﬂﬂél'}

=T BT ATHT
(A)89.76 (B)91.67 (C )88.56 (D)94.29  (E)90.20

Total no of employees = 1800

B Production

Production 11:1
= HR HR 1:3
mIT
IT 5:4
Marketing
Marketing 7:5
M Accounts

Accounts 2:7




Q.35 :- What is the number of men working in the marketing department?

arb e faum & o w5 ardt gul @ ien w8

(A)132 (B)174 (C)126 (D) 189  (E)None of these

Total no of employees = 1800

Department | _M:W _

B Production i 11:1
= HR HR 1:3
wIT = 5:4
Marketing
Marketing T
M Accounts
Accounts 2:7




049  [081
025 V036
9 /
M '~ )ZE
( ‘H
\ +
1,1
> 4;
4f+"rs
D

iR

IS equal to / d{[& g

9
(3) 10

—
-

(4) 9

9

10




J0.441
. The value of IS equal to:
J0.625

0441
f—0.625 bl HIH {6 5

(1) 0.048 (20.84  (3)0.48  (4) 0.084
A 9

e —

= a9 T

Jy/ W)

S
~q




